ANSWER KEY

Module 3
1. DHS Indicators:

a. Are quantitative

b. Are determined without input from international organizations
c. are not clearly defined
d. none of the above
2. All of the following are true about biomarkers EXCEPT
a. they provide objective data
b. most DHS biomarkers can be collected with drops of blood
c. are impossible to collect without a venous blood draw

d. provide data on HIV prevalence, anemia, and malaria
3. Fill in the blanks.
Wasting: Weight-for-___Height__ is two or more standard deviations below the median determined by international standards.
Underweight: Weight-for-___Age___ is two or more standard deviations below the median determined by international standards

Stunting: ___Height___-for-Age is two or more standard deviations below the median determined by international growth standards.
4. Which of the following is NOT true about the wealth index calculated by the DHS:

a. It is based on proxy indicators rather than income
b. It can be used to directly compare different countries

c. It divides the population into five equal groups or quintiles
d. It can help identify populations with special needs.
(Turn over for final question)

5. Match the following terms to their definition
__B_ Child mortality rate
__D__ Infant mortality rate
__C__ Neonatal mortality rate
__A_ Under-five mortality rate

a. Probability of dying between birth and age five; calculated as the number of children dying between birth and age five per 1,000 live births.
b. Probability of dying between age one and five; calculated as the number of children dying between age one and five (13 to 59 months) per 1,000 children surviving to 12 months of age.
c. Probability of dying within the first month of life; calculated as the number of children dying within the first 30 days of birth per 1,000 live births.

d. Probability of dying between birth and age one; calculated as the number of deaths among infants under 12 months per 1,000 live birth
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